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i) General Awareness

The Gandhi Solar Park (GSP) has been
recently inaugurated at headquarters of
which international organisation ?

(A) World Bank

(B) International Solar Alliance
(C) United Nations

(D) European Union

The term ‘Sociology’ is derived from the
following two languages

(A) Latin and French
(B) Latin and Greek
(C) French and Greek
(D) German and Greek

Who amongst the following is the author
of the book ‘Positive Philosophy’ ?

(A) Max Weber
(B) Karl Marx
(C) Auguste Comte
(D) Herbert Spencer

Comte’s Metaphysical stage is also
called

(A) Abstract stage
(B) Positive stage
(C) Fictitious stage
(D) Scientific stage

Name the current Chief of Air Force
Staff.

(A) B.S. Dhanoa

(B) R. K. S. Bhadauria
(C) Karambir Singh
(D) Bipin Rawat

6.

“The total number of population
actually working and are paid for
their services” is associated with the
concept

(A) Labour Movement

(B) Labour Dissatisfaction

(C) Labour Force

(D) Labour Dispute

“The process whereby the public
operations are transferred to the
private sector” is closely associated
with the concept

(A) Globalisation

(B) Privatisation

(C) Urbanisation

(D) Secularisation

“A labour which remains in bondage for
a specific period for the debt incurred”
is related to

(A) Bonded Labour
(B) Labour Power
(C) Labour Turnover
(D) Labour Aristocracy

Who has become the first Indian
wrestler to qualify for 2020 Tokyo
Olympics ?

(A) Vijender Singh

(B) Rakesh Advani

(C) Vinesh Phogat

(D) Pawan Kumar
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10.

: i (%

12.

13.

Who amongst the following is
the author of the book “Kinship
Organisation in India” ?

(A) A.R. Desai
(B) Iravathi Karve
(C) M. S. A. Rao
(D) S.C. Dube

“The Medical Termination of Pregnancy
Act of 1971” is related to

(A) Marriage
(B) Abortion
(C) Dowry

(D) Property

Which of the following is closely

associated with Sociology ?
(A) Physical Science

(B) Social Science

(C) Biological Science

(D) Management Science

The Union Government has constituted
a committee to monitor solutions to
air pollution. What is the name of the
committee ?

(A) Harsh Vardhan committee
(B) C. K. Mishra committee
(C) Sunita Narain committee

(D) Bhure Lal committee

14.

15.

16.

17
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Max Weber belongs to
(A) Formalistic school
(B) Synthetic school

(C) Ecological school

(D) Oriental school

Brother and sister relationship is an

example of

(A) Secondary Kinship
(B) Primary Kinship
(C) Tertiary Kinship

(D) Amitate behaviour

“Questionnaire method cannot be
administered in case of illiterate

persons” is related to

(A) Type of questionnaire

(B) Limitation of questionnaire
(C) Advantage of questionnaire

(D) Formation of questionnaire

The largest State in India by area is
(A) Rajasthan

(B) Andhra Pradesh

(C) Guijarat

(D) Uttar Pradesh



10.

11,

12.

13.

i T 3 e g
AGFFHE ?

(A) T AR <E13

(B) et &

(C) WH.Tq.T.T=

(D) wE. #. g8

g Afesret hifAem 21TE Tt TEe ATH
1971 fored wafta & 7

(A) foame

(B) it

(C) @&l

(D) Huf

frfafiaa & @ F=-a1 gaswTe & @y
T @ JeT g R 7

(A) ifes fagm

(B) wmHTRTeh fomme

(C) i fagm

(D) weeH fagm

% TR - I JGYVT o & ol X A
& foru ues Gt = 71 foran & | S\ affa
FAHFE 7

(A) edaelT wffa

(B) @t . fugm afafe

(©) g R i

(D) ¥t vt wferfa

14.

15.

16.

17

MKG-XXIX/GENLWI/1T/06

Horg o) 70 & fopod wafem & 7
(A) SHTT=TER JAFTE

(B) Fm Tga

(C) Tiifeurfaeh T

(D) Aftdeet g

T8 311 e 1 TgdT JHehT T ISTE0T ©
(A) o frederd

(B) wnerfies fgderd

(C) eltereh fedart

(D) Tt =aER

*“ 31 S el o | SeHTEE ht gaid
1 et el o s @k’ - 98 fored
gafa g ?

(A) TS T FHR

(B) SATE shi HiHT

(C) TeTEedl &1 &1d

(D) SeATEcA 6l T

A% o Goe § 9ITd ol Gl F71 7159 2
(A) TSI
(B) 31 Jeu

(C) TSI
(D) I YW



&5

18.

19.

20.

21,

Who amongst the following is closely

related to the concept of ‘Sociometry’ ?
(A) J. L. Moreno
(B) P.V.Young
(C) Karl Pearson

(D) Ian Robertson

The ‘proposed plan of research’ is

associated with
(A) Case study
(B) Secondary data
(C) Depth interview
(D) Research design

The branch of sociology which deals
with the city, its growth and problem, is
closely associated with

(A) Rural Sociology

(B) Urban Sociology

(C) Medical Sociology

(D) Sociology of Occupations

RBI has recently tightened the reporting
norms for LRS. What does LRS stand
for ?

(A) Liberalized Remittance Scheme
(B) Liaison Remittance Scheme
(C) Liability Remittance Scheme

(D) Long Remittance Scheme

22.

23.

24.

25.
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The Theory of ‘Looking-Glass Self’ is
developed by

(A) C. H. Cooley
(B) G.H. Mead
(C) W.I. Thomas
(D) Sigmund Freud

The three main fields of sociology
advocated by Emile Durkheim are
(A) Social psychology, social

morphology, social pathology
(B) Social morphology, social

physiology, general sociology
(C) Social demography, social

ecology, social gerontology

Social engineering, social
statistics, social pathology

(D)

Who amongst the following has said
that ‘History is past sociology and
sociology is present history’ ?

(A) T.B. Bottomore

(B) G.E. Howard

(C) A. L. Kroeber

(D) Robert Biersteds

The first-ever trilateral naval exercise
‘SITMEX’ was among India and which
countries ?

(A) Myanmar and Mauritius
(B) Singapore and Mauritius
(C) Myanmar and Thailand
(D) Singapore and Thailand
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26.

27,

28.

29.

“A doctrine advocating social and
political rights for women, equal to
those of men” is associated with the

concept

(A) Feminism
(B) Feudalism
(C) Formalism

(D) Commensalism

Who said that sociology and

anthropology are the ‘twin sisters’ ?
(A) Robert Redfield

(B) A.L. Kroeber

(C) Evans Pritchard

(D) Radcliffe Brown

The slogan ‘operation black-board’ is

related to

(A) Agricultural Development
(B) lIrrigation Projects

(C) Educational Development

(D) Industrial Development

Who was the first Viceroy of India ?
(A) Lord Mayo

(B) Lord Irwin

(C) Lord Canning

(D) Lord Moutbatten

30.

31.

32.

33.
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Who amongst the following is the author
of the book ‘The Protestant Ethic and
the Spirit of Capitalism’ ?

(A) Auguste Comte

(B) Max Weber
(C) Karl Marx
(D) Emile Durkhim

“A process by which modern scientific
knowledge is introduced in the society
with the ultimate purpose of achieving
better and a more satisfactory life in the
broadest sense of the term as accepted
by the society concerned” is related to
the concept

(A) Tribalisation

(B) Politicisation
(C) Modernisation
(D) Fundamentalism

Arya Samaj Movement is an
example of

(A) Revolutionary Movement

(B) Reform Movement

(C) Resistance Movement

(D) Backward Classes Movement

Which of the following city bagged the
title “India’s cleanest city” by Swachh
Survekshan — 2019 ?

(A) Patna
(B)
(C)
(D)

Indore
Kochi
None of the above
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35.
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37.

Who amongst the following, is

the author of the book titled “The
Elementary Forms of Religious Life” ?
(A) Emile Durkheim

(B) Max Weber

(C) James Frazer

(D) Herbert Spencer

The concept ‘thinkophobia’ is
associated with

(A) Bhagwan Das

(B) Sri Aurobindo

(C) Swami Vivekananda
(D) Sister Nivedita

“A family which has greater generation
depth than individual family and the
members of which are related to one
another by property, income and mutual
rights and obligations” is known as

(A) Nuclear family
(B) Neolocal family
(C) Joint family

(D) Patronymic family

IMBEX 2018 — 19, bilateral army
exercise between which of the following
countries ?

(A) India and Madagascar
(B) India and Myanmar
(C) India and Maldives
(D) None of the above

38.

39.

40.
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“The imbalance in the rate and speed
of change between material and non-

material parts of culture” is known as
(A) Cultural Lag

(B) Cultural Capital

(C) Cultural Determination

(D) Cultural Relativism

Who amongst the following Indian
thinkers has contributed to the fields
of “values, norms, symbols and

personality” ?

(A) M.N. Roy

(B) Radhakamal Mukerjee
(C) Mahatma Gandhi

(D) None of the above

Who amongst the following, has
contributed the ‘theory of organic
analogy and the law of evolution’ to

Sociology ?

(A) Montesquieu
(B) Vilfredo Pareto
(C) Herbert Spencer

(D) Emile Durkeim
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ii) General Intelligence and Reasoning Ability

Find the missing number in the following
series.
126, 113, 102, 95, 90,

(A) 86
(B) 87
(C) 88
(D) 89

, 85.

In the following series, a wrong number
is given. Find the wrong number.

1,2,4,7,28, 140, 198, 205
(A) 198

(B) 4

(C) 205

(D) 140

In the following number sequence, how
many 4’s are there that are immediately
preceded by 6 and immediately followed
by 5 ?

(
(C) three
(

Find the next letter in the series.
A B,DH,___

(A) L

(B) N
(C) P
(D) R

45.

46.

47.

48.

Complete the following series.

6++/216, 7++/343, 8++512,
9+4/729,

10+Jﬁ

10 ++/1000
100 ++/1000
100++10

Identify the relationship between the
two numbers in the first pair and find
the missing number in the second
pair so that it continues the same
relationship.

112242 23T
(A) 68
(B) 92
(C) 78
(D) 84

(A)
(B)
(C)
(D)

Complete the analogous pair in the
following.

2E3 415
(A) 10U11
(B) 11W12
(C) 13A14
(D) 9uU12

708 :

Complete the analogous pair.
Train : Track : : Bus :

(A) Driver

(B) Conductor

(C) Road

(D) Passengers
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ii) | glgwaT quT atfhes araar

FrafaRaa sfraen 3 g gem g = |
126, 113, 102, 95,90, ___, 85.
(A) 86

(B) 87

(C) 88

(D) 89

Fraferitaa spaen § ek Tord T € T8
2 | TTeTd 91 §1d W

1,2, 4,7, 28, 140, 198, 205

(A) 198

(B) 4

(C) 205

(D) 140
FrafeRaa g gaen A fraa W@ 4 8
S A TR 6 M A AR5 7
3426543645986453
8746821764586459
745

(A) TH

(B) a

(C) o=

(D) =R

FEET B STTEAT &R J1l |
A B,DH, __

(A) L

(B) N

C) P

(D) R

45,

46.

47.

48.

frefofaa saen & i |
6+216, 7++/343, 8++/512,
9+\/'@,

(A) 10++100

(B) 10++/1000
(C) 100++/1000

(D) 100++/10

WO g H S FEAIA] o d9 oYl YgET-g
TR R 7 ¥ e TR 1A Shi ATk §eT
Hog e @ |

11:24:: 87

(A) 68

(B) 92

(C) 78

(D) 84

frafafea 3 gwes gm g = |
2E3 ;415 708 :
(A) 10U11
(B) 11W12
(C) 13A14
(D) 9uU12

THET I 01 L, |
Wﬂ%ﬁ:m::w:_
(A) =T

(B) ui=Teieh

(C) ws®

(D) =mft
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In a certain code language, if the word
RECTANGLE is coded by TGEVCPING,
then how is the word RHOMBUS coded
in that language ?

(A) TJOQDWV
(B) TJQNDWU
(C) TJQODWU
(D) TJQOEWU

In a certain code language, if the word
REJECTION is coded as SGMIHZPWW,
then how is the word MECHANIC coded
in that language ?

(A) NGFLFTPK
(B) NGPLFTPK
(C) NGFKFTPK
(D) NGPTPKIL

In a certain coding system,

‘rbom std bro pus’ means ‘the cat is
beautiful’

‘tnh pus dim std’ means ‘the dog is
brown’

‘pus dim bro pus cus’ means ‘the dog
has the cat’

What is the code for ‘has’ ?
(A) std
(B) dim
(C) bro
(D) cus

52.

53.

54.

55.
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In a certain code language, if the number
1 is assigned to all the letters in odd
numbered places in the alphabet and
the remaining letters are assigned the
number 2, then what is the code for the
word INDIAN ?

(A) 122112
(B) 121212
(C) 111222
(D) 121221

Find the odd one among the following.
(A) ZW
(B) TQ
(C) SP
(D) NL

Find the odd one among the following.
(A) Baseball

(B) Boxing

(C) Chess

(D) Squash

In a certain code language, if INFER = 25
and JERSEY = 28, then CHOICE = ?

(A) 34
(B) 39
(C) 41
(D) 47



49.

50.

T F W H A 715 RECTANGLE
TGEVCPING forar simar 2, o 3¢t s
RHOMBUS =i & forar smam ?

(A) TJOQDWV
(B) TJQNDWU
(C) TJQODWU
(D) TJQOEWU

Teh %< W91 § I 9188 REJECTION
% SGMIHZPWW fera St 2, df 31sg
MECHANIC &l 35t 91 § &l s
Har ?

(A) NGFLFTPK

(B) NGPLFTPK

51.

(C) NGFKFTPK
(D) NGPTPKIL

T 0T JUTTe §

‘rbm std bro pus’ <l 31d B ‘the cat is
beautiful’
‘tnh pus dim std’ =T 319 ® ‘the dog is
brown’
‘pus dim bro pus cus’ shl 274 8 ‘the dog
has the cat’
‘has’ AT FE R ?
(A) std
(B)
(C)
(D)

dim
bro

cus

52.

53.

54.

55.

MKG-XXIX/GENLWI/1T/06

T Fe 9T H, A gofmren & fww e
T 3 3TER I TEAT 1 34 ST IR T
3T R EE 2 3 o ST, o v1sa INDIAN
FiuFm g ?

(A) 122112

(B) 121212

(C) 111222

(D) 121221

frforfiga 3 @ ween i 3 |
(A) ZW
(B) TQ
(C) SP
(D) NL

Fr=farftaa 4 @ g = I =t |
(A) ST
(B) TeRhaTSil

(C) IS
(D) @&

T % 9T 7 3% INFER = 25 371
JERSEY = 28, a1 CHOICE = ?

(A) 34
(B) 39
(C) 41
(D) 47
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57.

58.

59.
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Choose the number which is different
from others in the group.

(A) 48
(B) 50
(C) 82
(D) 170

If the time in a clock is 10 hrs. 40 mins.,
then what time does its mirror image

show ?

(A) 1 hr. 25 min.
(B) 1 hr. 15 min.
(C) 1hr. 10 min.
(D) 1 hr. 20 min.

If 18t Jan., 1992 is a Tuesday, then on
which day of the week will 15t Jan., 1993
fall ?

(A) Wednesday
(B) Thursday
(C) Friday

(D) Saturday

Which year will have same calender
as 2002 ?

(A) 2008
(B) 2011
(C) 2009

(D) 2013

60.

61.

62.

63.

MKG-XXIX/GENLWI/1T/06

If — stands for x, x stands for +, + stands
for = and + stands for —, then what is
thevalueof 9+ 18 x15+3-6x 127

(A) 24
(B) 30
(C) 33
(D) 42

If HEALTH is written as GSKZDG,
then how will NORTH be written in
that code ?

(A) OPSUI
(B) GSQNM
(C) FRPML
(D) 1USPO

If ‘white’ is called ‘Blue’, ‘Blue’ is called
‘Red’ ‘Red’ is called ‘Yellow’, ‘Yellow’ is -
called ‘Green’, ‘Green is called ‘Black’,
‘Black’ is called ‘Violet’ and ‘Violet is
called ‘Orange’, what would be the colour
of human blood ?

(A) Red

(B) Green
(C) Yellow
(D) Orange

In a certain code language, ‘123’
means ‘bright little boy’, ‘145’ means
‘tall big boy’ and ‘637’ means ‘beautiful
little flower’. Which digit in that language
means ‘bright’ ?

(A) 1

(B) 2

(C) 3

(D) 4



56.

57,

58.

59.

7

I T I S T % 3 aEn Y
AT |
(A) 48
(B) 50
(C) 82
(D) 170

I uk ot § gw 10 92 40 fafe &, @
Taeh! g9 B T T a7

(A) 192125 fiFe

(B) 1% 15 fime

(C) 1%@r10 fime

(D) 1 %=1 20 e

i 1 Fa 1992 WIS 8, df gTE &
-8 e 1 saft 1993 B ?

(A) F9ER
(B) T¥aN

(C) ehaR
(D) WIHER

forg o =1 it o 2002 St &R ?
(A) 2008
(B) 2011
(C) 2009

(D) 2013

60.

61.

62.

63.
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aﬁ'—ﬂé@fx%,xﬂﬂ+%,+fﬂ
3T?f+% 3ﬂ(+ Eﬁfa:f?i—%,?h
9+18x 15+ 3 -6 x 12 I HH 1
1Tl ?

(A) 24

(B) 30

(C) 33

(D) 42

gfe HEALTH = GSKZDG ferar st
2, T 3¢t 2 § NORTH F& foran
ST ?

(A) OPSUI

(B) GSQNM

(C) FRPML

(D) IUSPO

R Hhe FI e, ¢ AT,
A i e, e T
T HIAT, AT S SR S
! T HET ST 8, A WG &d B T
11 81T 7

(A) <

(B) &

(C) dm

(D) =t

:ﬁ-a—rs
¢

u fAfeera e s A 123 1 21 ‘bright
little boy’ &, ‘145" &1 319 “tall big boy’ &
3R ‘637’ %1 31 ‘beautiful little flower’ & |
39 9T H HF B 37 T 39 bright’ & ?
(A) 1

(B) 2

() 3

(D) 4
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64.

65.

66.

67.

Pointing towards a person, a man said
to a woman, “His mother is the only
daughter of your father”. How is the
woman related to that person ?

(A) Daughter
(B) Sister
(C) Mother
(D) Wife

P walks 10 m in front and 10 m to
the right. Then, every time turning to
his left he walks 5, 15 and 15 meters
respectively. How far is he now from
his starting point ?

(A) 2m

(B) 4m

(C) 8m

(D) 5m

Complete the analogy.

Karnataka : Bangalore : : Kerala :
(A) Cochin

(B) Coimbatore

(C) Ernakulam

(D) Thiruvananthapuram

In a telephone directory, which of the
following names appear third ?

(A) Sajewat
(B) Segvan
(C) Sajevar
(D) Sajewet

68.

69.

70.

#ids

e,
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Complete the analogy.
T 5

(A) 3:27

(B) 8:16

(C) 5:50

(D) 4:12

ABC : BDF : : DEF :
(A) EFG
(B) CDE
(C) EGI
(D) EGH

Select the words which is least like other
words in the group.

(A) Algebra

(B) Geometry
(C) Arithmetic
(D) Optometry

Select the number which is different
from rest three.

(A) 100
(B) 121
(C) 144
(D) 179

Select the odd one.
(A) CH
(B) KP
(C) Uz
(D) M
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64.

65.

66.

67.
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U sAfer 3l TR S Fd g, Th Al
J T Afge & her, <3SHeh 9 3es fuarn
=+ THATA 91 27| 9% Aiear 39 A |
F4 gEfa g ?

(A) &
(B) e
(C) #i
(D) Teht

P @A it 3R 10 . 3R g1d 10 Hiex
Feal & | T Jede SR 39 91 g3 51
98 HA: 5, 15 3 15 . I & | 98
9 AT foig & o1ft forat g & °
(A) 2Hi.

(B) 4.

(C) 8H.

(D) 5.

THEAT U1 |

FATEH ; ST : ¢ A
(A) =

(B) HRET

(C) oI

(D) foeeragm

U AR T | T8 ¥ FH-T1 1
e’ FeR 9T ST ¢
(A) Sajewat

(B) Segvan

(C) Sajevar

(D) Sajewet

68.

69.

70.

71

72.
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THETAT 07 |
228

(A) 3:27
(B) 8:16
(C) 5:50
(D) 4:12

ABC : BDF : : DEF:
(A) EFG
(B) CDE
(C) EGI
(D) EGH

e 318 M S §YE o A2 Vsl @ Hol
Ty firear ® |

(A) sfsmTforg

(B) ST

(C) ST

(D) gfeefufd

= it | fir= g g |

(A) 100

(B) 121

(C) 144
(D) 179

Fae fi= ghw |
(A) CH
(B) KP
(C) Uz
(D) IM
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73. Find the missing number.
2,4,8,16,7
(A) 32
(B) 64
(C) 22
(D) 28

74. The 12" term of the series
1,8,5, 7, vilS
(A) 21
(B) 23
(C) 19
(D) 17

75. Pick the wrong number in the series
0, 26, 124, 341, 728.

(A) O

(B) 341
(C) 728
(D) 26

76. Complete the matrix.

9 9 | 182
6 8 ?

(A) 90

(B) 100

(C) 110

(D) 120

MKG-XXIX/GENLWV1T/06

77. Find the missing terms.

78.

79.

80.

a_ac__a__b _c ba_
(A) abacabac
(B) accbaccb
(C) babcaaac

(D) cbabcccb

If TAIL is coded as VCKN, how
is PEACE be coded in that code
language ?

(A) RGCEG

(B) QFBDF

(C) RDzZBD

(D) QECEG

If in a certain code, GIVE is coded as
5137 and BAT is coded as 924, how is
GATE coded ?

(A) 5427
(B) 5724
(C) 5247
(D) 2547

In a certain code, 274 means ‘spread
the carpet’, 254 means ‘dust the carpet’
and 234 means ‘roll the carpet’. Which
digit in the code means ‘dust’ ?

(A) 5
B) 7
(C) 3
(D) 4



73.

74.

75.

76.

«21-

T & 7 HIR |
2,4,8,16,?

(A) 32

(B) 64

(C) 22

(D) 28

@A 1,3,5,7, .. F 129 0G 2
(A) 21
(B) 23
(C) 19
(D) 17

@A 0, 26, 124, 341, 728 H TTeTd A&
g |

(A) 0

(B) 341

(C) 728

(D) 26

3TTE Ui & |
9 9 162
6 8 ?

(A) 90
(B) 100
() 110
(D) 120

T

78.

Thsk

80.

MKG-XXIX/GENLWI/1T/06

<l 98 1 AT |
a_ac__a__b c_ba_
(A)
(B)
(C)
(D) cbabcecb

abacabac
accbaccb

babcaaac

g TAIL %1 %2 VCKN 2, af PEACE &
e I ATST H 7T g 7

(A) RGCEG

(B) QFBDF

(C) RDZBD

(D) QECEG

Ife Uk e H, GIVE 1 2 5137 3 BAT
1 %2 924 7, A GATE I 3 1 8171 ¢

(A) 5427
(B) 5724
(C) 5247
(D) 2547

U e | 274 1 379 ‘spread the carpet
2, 254 %1 3719 ‘dust the carpet’ & 371 234
=1 31 ‘roll the carpet’ ® | %2 | foFd 37k
1 379 ‘dust’ ® ?

(A) 5

(B) 7

(©) 3

(D) 4



E%

81.

82.

83.

84.

85.
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iii) Arithmetical and Numerical Ability

If 1 « 548 is divisible by 3, which of the
following digits can replace * ?

(A) 0 (B) 2
(C) 7 (D) 8

(2.39)% —(1.61)
2.39-1.61 °

Evaluate

(A) 2
(B) 4
(C) 6
(D) 8
ab
a+b
3% (3x—1).
(A) —3
(B) —1.5
(C) -1

2
©r 2

If a*b= , find the value of

If Ms. Preeti had walked 2 km/hr faster,
she would take 60 minutes less to cover
the distance of 12 kms. Then the normal
speed of her is

(A) 3 km/hr
(C) 6 km/hr

(B) 2 km/hr
(D) 4 km/hr

sin®57° + sin®33°

Value of 5 2 =
cos” 27° + cos“ 63°

(A) 1 +tan45°
(B) 0

(C) tan 45°

(D) None of these

86.

87.

88.

89.

90.

g1.

The average of six numbers is 3.95. The
average of two of them is 3.4, while the
average of the other two is 3.85. What
is the average of the remaining two
numbers ?

(A) 4.5
(B) 4.6
(C) 4.7
(D) 4.8

Two numbers differ by 5. If their
product is 336, then the sum of the
two numbers is

(A) 21
(C) 37

A man is 24 years older than his son.
In two years, his age will be twice the
age of his son. The present age of his
son is

(A) 14 years
(B) 18 years
(C) 20 years
(D) 22 years

(17)35 x (17)? = 17¢
(A) 2.29 (B) 2.75
(C) 4.25 (D) 4.5

If 35% of a number is 12 less than 50%
of that number, then the number is

(A) 40 (B) 50
(C) 60 (D) 80
The fourth proportional to 5, 8, 15 is
(A) 18 (B) 24
(C) 19 (D) 20
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82.

83.

84.

85.
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i) STERITIUTAE TS HEATeH 1T

?1%3%1*548%‘41@%,@%@?{13
T S -TT 375 * T Tfceeniud s gehar & 7
(A) 0 (B) 2
(C) 7 (D) 8

(2.39)% - (1.61)
2.39-1.61

(A) 2

(B) 4

(C) 6

(D) 8

T | 70 & |

qﬁ:a*b=_e_'.b_%,€r3*(3$—1)wm
. a+b
I L |

(A) -8
(B) —1.5
(C) -1

.
(D) 5
afe gt sfifa 3 2 fereft / sier ot = e,
12 Tt ot 3t 7 o 9 3 60 fireie =hm
A | 3T AT T B
(A) 3fefi/gar  (B) 2fEf/Ha
(C) efFft/aar (D) 4 fmft/gen

sin?57° + sin® 33°

cos? 27° + cos? 63°

(A) 1 +tan45°
(B) 0

(C) tan 45°

(D) ¥ & =i e

86.

87.

88.

89.

90.

91.

6 T3 1 3T 3.95 & | 399 & &
3d 3.4 2, Sefsh 317 21 %1 379d 3.85
2 | Tl g8 &1 Tl 1 S I |
(A) 4.5

(B) 4.6
(C) 47
(D) 4.8

3 GEATA] 1 HAR 5 8 | I ITH [UHGA

336 2, 1 a1 STl o A B

(A) 21 (B) 28

(C) 37 (D) 51

Ueh A 39 o ¥ 24 99 w21 @ | &1 9N
T IRl ST 3G o1 ot 271 1 ST B
3G S I IAAH Y

(A) 1439

(B) 18ay

(C) 20=8

(D) 2299

(17)35 x (17)? =178

(A) 2.29 (B) 2.75

(C) 4.25 (D) 4.5

e Ueh G&AT T 35% 3 50% U 12 FH
g, A1 O ®

(A) 40 (B) 50
(C) 60 (D) 80
5, 8, 15 1 =Y THIIT &
(A) 18 (B) 24
(C) 19 (D) 20
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If 7 spiders make 7 webs in 7 days, then
1 spider will make 1 web in how many
days ?

(A) 1 B) L
2

C) 7 (D) 49

A man can do a piece of work in 5 days,
but with the help of his son, he can do it
in 3 days. In what time can the son do
it alone ?

1

A) 6—d

(A) SIS

(B) 7 days

(C) 71 days
2

(D) 8 days

The first Republic Day of India was
celebrated on 26" January, 1950. It
was

(A) Tuesday
(B) Wednesday
(C) Thursday
(D) Friday

If the sum of two positive numbers is

15 and sum of their reciprocals is V ;
10
then the numbers are

(A) 4,11
(B) 5,10
(C) 8,12
(D) None of these

Find the odd man out.

8, 27, 64, 100, 125, 216,343
(A) 27 (B) 100
(C) 125 (D) 343

97.

98.

Y3

100.

101.

102.

MKG-XXIX/GENLWVI/1T/06

Find out the wrong number in the

sequence.

10, 14, 28, 32, 64, 68, 132
(A) 32 (B) 68
(C) 132 (D) 28

Find the next term in the alpha-numeric
series.

Z1A, X2D, V6G, T21J, R88M, P445P, 2
(A) N2676S (B) N2676T
(C) T2670N (D) T2676N

Choose the correct alternative.
25:125::36: 7

(A) 180 (B) 206
(C) 216 (D) 318
Find out the next term.
ADE : FGJ : : KNO : ?
(A) PQR (B) PQT
(C) RQP (D) TPR

If in a certain code, LUTE is written as
MUTE and FATE is written as GATE,
then how will BLUE be written in that
code ?

(A) CLUE (B) GLUE
(C) FLUE (D) SLUE
0 a 3
15 p _q | isaskew-symmetric
c 1 0

matrix, then the valueofa+b +c =

(A) -5
) 5

(B) O
(D) None of these
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94.
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afe 7 werfeai 7 oAl § 7 et st &, o
1 Thel 1 ST forae feat o st ?

(A) 1 ® ~
2
©) 7

Ueh o] Uk 1 i 5 &1 § 0 o Fawar
2, T 97 T i e 8 9% 3@ 3 i
H QU o THAT & | ST T STl 39
&l fohem T3 o Q@ o gepaT 8 7

.
(A) 65 e

(B) 7=
©) 71
2

(D) 8fe=

YR 1 T8l T0Tq foad 26 Si9al, 1950
=l HIT 7T | 98 o1

(A) WIEER

(B) FHaR

(C) T&aR

(D) AR

A2 3 GeTeS EEaT 1 AN 15 3 I
esh b1 AT 3 B, <t Tt

(A) 4,11

(B) 5,10

(C) 3,12

(D) H & IS T

o =1 31 |

8, 27, 64, 100, 125, 216, 343
(A) 27 (B) 100
(C) 125 (D) 343

(D) 49

97.

98.

99.

100.

101.

102.
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SjEe H TTeTd T J1d |
10, 14, 28, 32, 64, 68, 132
(A) 32 (B) 68
(C) 132 (D) 28

HE-TEAT @ H ST 98 e A |
Z1A, X2D, V6G, T21J, R88M, P445P, ?

(A) N2676S (B) N2676T
(C) T2670N (D) T2676N
Tt foskea giT |
25:125::36: 7

(A) 180 (B) 206

(C) 216 (D) 318
STTEAT YE 7 . |

ADE : FGJ :: KNO: ?

(A) PQR (B) PQT
(C) RQP (D) TPR

Ife Tk Fe |, LUTE &I MUTE 3R FATE
I GATE forar S 2, @1 36 %2 ® BLUE
I 4 fore ?

(A) CLUE (B) GLUE
(C) FLUE (D) SLUE
Ifg

0 a 3
5 B A }IEFféqq-IFﬂ%ﬁTGHBQE
¢ 1 0

%,?ﬁa+b+c$ﬂ:ﬂ=[%

(A) -5
(C) 5

(B) 0
(D) AH @ IS &l
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Ajay ranked sixteenth from the top and
twenty-ninth from the bottom among
those who passed an examination.
Six boys did not participate in the
competition and five failed in it. How
many boys were there in the class ?

(A) 40 (B) 44

(C) 50 (D) '85

If x means +, + means +, — means x and

+means —, then8x7-8+40+2="7
2

A) 1 B) 7—

(A) (B) .

3
(C) 8§ (D) 44

Total number of possible matrices of

order 3 x 3 with entry 1 or 3 is
(A) 9 (B) 81
(C) 512 (D) 27

The age of a father is twice that of the
elder son. Ten years hence, the age of
the father will be three times that of the
younger son. If the difference of ages
of the two sons is 15 years, the age of
the father is

(A) 50 years
(C) 60 years

(B) 55 years
(D) 70 years

Find out the missing number.

6 6 8

5 7 5

4 3 ?

120 | 126 | 320
(A) 4 (B) 8
(C) 12 (D) 16

108.

109.

110.
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If A>B, B> C and C > D, then which
of the following conclusions is definitely
wrong ?

(A) A>D
(B) A>C
(C) D>A
(D) B>D

The value of the determinant

X X+y X+2y _

X+2y X x+y | ®

X+y X+2y X
(A) 7x(x+Yy)
(B) 9%3(x +y)
(C) 9y*(x+y)

(D) 3y3(x +Yy)

Insert the missing number.

(A) 10
(B) 12
(C) 13
(D) 15
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103.

104.

105.

106.

107.

=27 =

TiteT Iiol 2 et o S & 375

TIH Hietgal 3R 9 & ITfeat ® |
g A Sfceqet & st & foran o uw
Al B | Heq § foha e o 7

(A) 40 (B) 44
(C) 50 (D) 55

'ﬂﬁxﬁﬂﬁ+%,+ﬂ3ﬁf+%,—ﬂ3ﬁ
X%ﬁ(%ﬁa‘&-%,?‘ﬁ
8x7-8+40+2="7

(A) 1 &

B 7

£ (D) 44

© 87

gfafee 1 a1 3 3 |y 3 x 3 FE i Gvg
TR il el T B

(A) 9 (B) 81

(C) 512 (D) 27

fian &t s S A A Y A AT R | T
T =11g fora it g B 3 it 37y it fe
Bt | 3 <t 52 i g A 15 A B,
a for < g R
(A) 5099
(C) 60aY

(B) 55
(D) 7098
o T J1d |

6 6
5 7
4 3
120 | 126

(A) 4
(C) 12

||

320

(B) 8
(D) 16

108.

109.

110.
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Ife A>B, B> C 3 C > D, arfimfefaa
T Y -1 fsrd ifRa se g Tem e ?

(A) A>D

(B) A>C
(C) D>A
(D) B>D
X X+y X+2y
AT X+ 2y X X+Yy <l
X+y X+2y X
= ?
(A) 7x*(x +y)

(B) 9%(x+y)
(C) 9y*(x +y)

(D) 3y*(x+y)

T T 1T |

(A)
(B)
(C)
(D)
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114.
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2 .
If f(x):{x +3x+p, ifx<1 i

gx+2 A

differentiable at x = 1, then the value |
of p and q are respectively

(A) -3,5 (B) 5,2

(C) 3,5 (D) 2,5

If you are facing north-east and move
10 m forward, turn left and move 7.5 m,
then you are

(A) North of your initial position
(B) South of your initial position
(C) East of your initial position
(D) None of these

Find the missing number.

(A) 26
(C) 36

(B) 32
(D) 117

Find the missing number.
0, 6, 24, 60, 120, 210, ?
(A) 240 (B) 290
(C) 336 (D) 504

Find the missing series.
__baa_ _ab_

aaaaa
aabaa

aabab
baabb

116.

117.

118.

119.

120.
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Mumbai : Maharashtra : : Gandhinagar: ?
(A) Kolkata
(B) Guijarat
(C) Kerala
(D) Sikkim

Joule is related to Energy in the same
way as Pascal is related to

(A) Volume
(C) Density

(B) Pressure
(D) Purity

Choose the analogous pair.
Sonnet : Poem : :

(A) Lie : Falsehood

(B) Chapter : Book

(C) Murder : Crime

(D) Ballad : Stanza

Which number is like the given set of
numbers ?

Given set: (3, 17, 31)
(A) 5 (B) 15
(C) 45 (D) 49

The point on the curve y? = x, where
the tangent makes an angle of % with
X axis is

(A) (1,1)

(1

o (34

(D) (4.2)



112,

113.

114.

115.
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2
_ aﬁx=1qtf(x)={x +3x+p, A x <1

gx+2 x=n

FaFA g, qlp 3 q F A FAW: T
(A) -3,5 (B) 5,2
(C) 3,5 D) 2,5

I 3791 T& IT-d i AR B 3 39
10 Y. 3T 9o &, 9 g & 3iR 7.5 .
Terd &, Y 3 ¥

(A) Tut 3feres ferfa & s A

(B) 319+t 3mfires fedifa & afaror o

(C) 1ot Tfirs feufa s qa o
(D) ¥ & ¢ el

T T I R |

(A) 26 (B) 32
(C) 36 (D) 117
T G 1 A |

0, 6, 24, 60, 120, 210, ?
(A) 240 (B) 290
(C) 336 (D) 504
T FET J1d |
ab__baa__ab_

(A) aaaaa

(B) aabaa

(C) aabab

(D) baabb

116.

117.

118.

119.

120.
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eI : HERIS : : MR : 7
(A) It

(B) TS

(C) e

(D) fuferm

ST, el © IH YR Heifed 2, e v
T, T Tl R |

(A) 3TTFaA (B) ¥

(C) == (D) s

guey g gHT |
lﬁ%:m::

(A) TS : ST
(B) HEIM : J&ish
(C) &A1 : 3T
(D) i : et

-4 Fe fou gu e qyeay 9
foerdt 2 ?

e gem ag==1 : (3, 17, 31)

(A) 5 (B) 15

(C) 45 (D) 49

y? = x I3 T fog, e waet {an x gff & ai
/) <1 o1 ST

(A) (1,1)

® (33



121,

122.

123.

124,

125.
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iv) Hindi Language and Comprehension

fo=dt v siR Ay
T eI B ATt SR R A FRd 7 | 126, 9 + SUHR = ‘Weguen’ e
(A) =R gy ?
(B) ferem (A) Ife Tl
&) = (B) TorEf
(D) 3 & FIS A ©) Ta
O ST W = OIS (D) < iy
qIE R ? 1 o
=t 127. 39 TRV, HEH gEY 3R = R
E;; 2 T % TR R ?
©) 53 (A) @
0) & (B) WEaTEH
(C) Taya=H

EZARIREIR G LR SRR SIRRE (D) TrSaTEH
Srare ? .
o e 128. TR W H R qEHH TR ?
(B) SITEft (A) T

() (B) T

(D) ¥ & 1 T (C) g

T 7R =] || I8 9 JEared § Bl
B 129. I, T 3R ‘AU qEETES TAAH
(A) TTE T AT & A | foF W 3 eferta 3Tmd € 7
(B) T & =it A S | (A) HEIH IEY
(C) T & weft WY | (B) =&
(D) I T =AT TE T | (C) mg&q(amw)
o i 13t @ 3 it 0 e B D F
e v BUR ged o TaT B, 39 | 130. &l T & 3rferek ol i &) o) A gt
_ G{iwEdd | 2, T8 I A1 AP BT 8 ?
(A) vEETEF (A) SHIIIE
(B) ZAATS

(B) YI¥

(C) T (C) Tehifad
(D) Shfdar=eh

(D) e



B

131.

132.

133.

134.

135.
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& fasu & fhad YTFR Ea & ?
(A) =

(B) =R

(C) =

(D) @
Frafafaa v 8 ‘a1 Wi e
E i

(A) 379

(B) hive

(C) M

(D) &3

ot ST o AT A &, FIR
378 18 farehr Iea= el g |

(A) FaA™

(B) Tora farsmor

(C) |

(D) 37 & i3 TE

TR IUHY X IYHTH I FARIIV &I, T8I
9 T1 AR AT 8 7

(A) &I

(B) wi¥

(C) Iu

(D) Teifaa

TEg 3R e R ST HANRE 7
(A) HeY qEF T

(B) W= ek 7T

(C) fammnfe sy a1

(D) ¥ & =is &

136.

137.

138.

139.

140.
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Fafafaa & @ ‘vem’ =1 v s
T

(A) STg

(B) TSR

(C) &g

(D) &

e 31w @ =, gom, Wik, WA, v
3Tfe WA TFd B © 7

(A) HEY Gk T

(B) Frernfz Stus =3

(C) Tomam fargaon

(D) 79 & whIE &I

T8 ¥ 7Y A BT YRR H 3 ?
(A) =TaEt T

(B) hHiaATE # geT

(C) wwr +ft 7 e

(D) e | YT & T

3 19 I HHAT § HefeT -
fomet 3 Fue g1 |

(A) fomen @ w9 9 T |
(B) =qe fawem et ® |

(C) fomen 9e ot 2 |

(D) H & FI3

‘g’ 3158 1 g €9 &
(A) TEtn




5

141.

142.

143.

144 .

39 9T %! iy S[awTd § S&rerg |
R 7 g7 foman |

(A) T g for@ awar g |

(B) 1 7 9= for@ fean g |

(C) w1 3 o= forar B |

(D) T & I3 TE

TG THIE

(A) BT U ITH: THTH BT # |

(B) & 37 3ifery @ue Y B R |

(C) 21 @Us YU 8l & |

(D) TSI WUE YU 7 Bl T e ford
G H AUF B2 |

T ¥ A59E TR @

(A) 7

(B) I™

(C) g

(D) f=

‘TR wee frdt @ A wed | sw A

T ‘A% =1 e giEy A |

(A) Srfdarees |31, Yo, dga=r,
FlehIeh, Ted [5haT T

(B) wraaTe® €, Yfean, aga=m,
FHHNH, S [5hdT T FH

(C) =aferar=reh U1, Ifeet, siga=H, T
R, wed fsrar o wH

(D) =afdaTes |31, Ifee, sgaed,
FURNE, TSd 13T T HH

145.

146.

147.

148.

149.
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@ifeRd AT T % HIY THER &
et g ?

7fe U7 1 = Brdl, @ s foraan |
(A) 3ol

(B) @iy

(C) ¥gegHe

(D) qof

‘T S5 % THF gR ® | T8l Fe
HAFR G 7

(A) AT

(B) N

(C) whifad

(D) I

3 YTy (37599 i FEd B,
it foreht 31eq o 31T oo Suh! e oref
Y& T ¢ |

(A) Ium
(B) dfgd v
(C) weId

(D) 3T & 1S A&

frafafaa d @ w& ad-t 1 ==
$ifs |

(A) faifa

(B) uifa

(C) Trutta

(D) Tt

e SR AT e ® 7
(A) 3T

(B) 3wt

(C) T
(D) 379 @ I3 &




i

150.

151.

152.

153.

154.
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Eiceickicioiil gﬂﬁiwmf%
(A) Tafea g
(B) 1EyE H HEAT

(C) FBMM & | ST
(D) TR HME A

%G Y152 o 32180 8
(A) STHR
(B) Soig
(C) formar
(D) ferersr

S8l higdT § Ush Y162 & Ush & 314eh o7
BId &, I8 991 STARR Bar @ 7

(A) vy

(B) Tshifad

(C) ®9h

(D) e

ST Y12 3uE, TeId A1 31 ¢ Yise i
Y97d 8, 34 16 FEd ¢ |
(A) AnTEg

(B) ifirer

(C) e

(D) 3 & =Ig &
g-:-mm:wmaﬂm“wiﬁl%?

(A) I e

(B) Torfy
(C) e =fy

(D) gfg @ty

155.

156.

157.

158.

159.

160.
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T IR Y551 A HHAdT Y58 ANTEG 163 Hl
& ISR ?

(A) A1

(B) fe

(C) ferama

(D) TS

gial et et qEHT geTek 1 3 @
A) STvER Yehe AT

(B) wasfid =& 5T

(C) T8 BMT

(D) 3T Al BT

3ugt ‘3’ @1 ‘o o Haoe ®
(A) TE

(B) &M

(C) i

(D) SH | I3 &Y

‘gTeft’ 3167 T TgETH T B
(A) wrefiat

HENIE R SRR CIRIEE e
Fed @ |

(A) 9™

(B) 3u&

(C) 513

(D) wfe

@R &1 P = TR T8 ST
a7

(A) 3rgdt HIg

(B) dcqey

(C) sEshfe

(D) T
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v) English Lapguage and Comprehension

JAUST W AR ™

Fill in the blanks with suitable articles if
necessary.

Sonal is richest man in

Mumbai.

(A) the

(B) a

(C) an

(D) no article needed

161.

Houses are built of bricks

and cement.

(A) a

(B) an

(C) the

'(D) no article needed

162.

Fill in the blanks with suitable preposition.

163. | have been learning driving

eight hours.
(A) since
(B) for
(C) from
(D) in

164. The property was divided

the two sisters.
(A) among
(B) for

(C) between
(D) in

-34-

Fill in the blanks with appropriate word.

| shall for honest candidate

in coming poll.
(A) Canvas

(B) Canvass
(C) Canevas
(D) Canevass

165.

166. Her happiness is
(A) Momentary
(B) Momentous
(C) Momentory

(D) None of the above

167. By seeing dead body of my brother |

began to
(A) Veil
(B) Weil
(C) Vall
(D) Wail

Give one word substitutes for the following.

168. A soldier who fights for the sake of
money.

(A) Meticulous
(B) Misogynist
(C) Mercenary
(D) Lessor

169. The introductory part of a poem.
(A) Monologue

(B) Prologue

(C) Epilogue

(D) Epic



s
Identify the underlined word.

170. The boy who stole the watch was
caught.

(A) Adijective

(B) Adverb

(C) Relative pronoun
(D) Noun

171. He is both scholarly and cultured.
(A) Verb
(B) Pronoun
(C) Conjunction
(D) Interjunction

172. He is a strange person.
(A) Adverb
. (B) Adjective
(C) Noun
(D) Pronoun

Fill in the blanks with appropriate form
of verb.

173. | made a cup of tea while she
the letter.

(A) reading

(BY was reading

(C) is reading

(D) none of the above

174. Many people her to be
the finest violinist in the country at the

moment.

(A) considers

(B) considering
(C) has considered
(D) consider

-35-
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175. A survey has found that, surprisingly,
most children to walk to
school than be taken by car.

(A) prefer

(B) prefers

(C) have preferred
(D) preferred

Select simple sentence from the following.

176. (A) Tell me where you live.

(B) | have no advice that | can offer
you.

(C) How long | shall stay is doubtful.
(D) He declared his innocence.

177. (A) We came upon a peasant’s hut.

(B) He remarked how impudent the boy
was.

(C) Youth is the time when the seeds
of character are sown.

(D) The moment which is lost is lost for
ever.

Change the following sentence into compound
sentence.

178. ‘We sow so that we may reap.’
(A) We sow and we reap.
(B) We sow while we reap.

(C) We desire to reap, therefore we
SOW.

(D) None of the above

179. ‘The lion was not killed although he was
wounded.’

(A) The lion was wounded but not
killed.

(B) Although the lion was wounded it
was not killed.

(C) The lion was not killed and it is
wounded.

(D) None of the above



i

Complete the following using correct option.

180.

181.

| was alarmed lest
(A)
(B)
(©)
(D)

Except a man be born again,

(A) he cannot see the kingdom of
God

he can see the kingdom of God
he will see the kingdom of God

we were not wrecked
we could not wrecked
we should not wrecked
we should be wrecked

(B)
(C)
(D) he is able to see the kingdom of
God

Fill in the blanks with correct expression.

182.

183.

184.

Satish
school sports.

(A) bore away
(B) bore down
(C) bore out

(D) bore upon

many prizes at the

He is for a sailor.
(A) cut out
(B) cutup
(C)

(D)

cut off
cut of

He
(A)
(B)
(C)
(D)

against such injustice.
Cry down
Cried out
Cried up
Cried in

MKG-XXIX/GENLWI/1T/06

Identify the figure of speech used in the
following sentence.

185.

186.

“She accepted it as the kind cruelty of
the surgeon’s knife.”

(A) Euphemism
(B) Oxymoron
(C) Simile

(D) Epigram

“Life is a dream.”
(A) Simile

(B) Metaphore
(C) Apostrophe
(D) Pun

Choose the meanings of the following idioms
and phrases.

187.

188.

“Once in a blue moon.”

(A) When there is a blue moon
(B) Very rarely

(C) Frequently

(D) None of the above

“To chew the cud.”

(A) Go through legalities
(B) Reflect upon one’s past
(C) Kill time

(D) Have a meal

Identify the correct spelling.

189.

190.

ACCUMULLATE
ACCUMMULATE
ACCUMULATE
ACUMULLATE

PERSUIT
PURSUIT
PERSOOT
PERSUET

(A)
(B)
(C)
(D)

(A)
(B)
(©)
(D)
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s
In the following passage there are blanks, each

of which has been numbered. Fill in the blanks
with suitable words.

At the beginning | _(191) that if | was _(192)
lucky enough to (1983) a professional

entomologist, | would _(194) my time advising
farmers on how to control insects.

191. (A) think
B) thought
got

D) assumed

192. ever
only
sometimes

always

(B)
(C)
(D)

193. (A)
(B)
(C)

(D)

(A)
(B)
(C)
(D)

obtain
retain
keep
become

194. spent
spend
consume

waste

Fill in the blanks with correct adjective or
adverb from the options given.

195. One of the choir members was
singing
(A) flatly
(B) flat
(C) deeply
(D) none of the above

37~
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196. The door was
went straight in.

(A) wide
(B) widely
(C) shorty
(D) short

open so | just

Choose the antonym of the words.

197. NEBULOUS
(A) Distinct
(B) Sober
(C) Grave
(D) Serious

RECEDE

(A) Abhorrent
(B) Scornful
(C) Advance
(D) Disdainful

198.

Choose the synonym of the given words.

199. ABSURD
(A) Ridiculous
(B) Realistic
(C) Powerful
(D) Reasonable

200. CONSCIENTIOUS
(A) Dishonest
(B) Unjust

(C) Immoral

(D) Scrupulous
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SPACE FOR ROUGH WORK

&% &1 & forn T
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SPACE FOR ROUGH WORK

TF &1 & o0 =
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14. Directions :

15.

17,

18.

19.
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Ifigari & foro weragut staew

13. This booklet fontains 40 pages.

Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Method || Wrong Method || Correct Method

O®0CO|OLOO|I0®O0|0O@00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
guestion. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

174

18.

19.

30 qftasr 7 40 U9 2|

e : T TYA 3YET Yedwh I HUA % 91G
TR I YT [ HUH G T & | WS &0
T 379en! fopet U I g1 8 ST 9 I Hal I
T YET HUA HI T HL R IHYH! IT IEH |
39T MR @H A, B, C 31 D 1 e 31 s
FieT-Uig< U9 § FHIeT (@) T 8 | (gheatim
Irdigarl & fau sua merwn fafus g
et fean <o)

Tk Y9 % | 3fad I o Feeee seh ST
3w g | v = fam ¢ wm o i & |
Tereifera = =1 g2t alien 9= fear man 2

ORQOIOLOOIC@®@O0ICeOCO

Freref SRt T I AT A faeER % ST
Tafa s =1fzw |

T W¥A 1 hadl Uh & HEl I 8 | I
e Hia 31q A, B, C 31 D & TR @H
%! Tl (@) T 2 | afe 3y et wvA &% wmE
Ueh O Ffes MR @H 1 W (@) ol A9
IR I THT SR |

Ife et ww7 & &8 aen Ssh 3rErR o &8
3T 2 1 3TSH 31qATE I & HE TS TR |

Fed A & foTT Haet wod 73 ° fgu T e w5
TN | I AT W Tl R T R

7@ iR & 31 SNTOeh! 3T JifRa T A E |
I Hae IR AR | E 2|

Go through instructions given in Page No. 1 (Facing Page)
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